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DESCRIPTION: This exercise is designed to familiarize the student with the procedure for breaking unit manpower authorization into UTCs and assigning Air Force Worldwide UTC Availability System (AFWUS) codes, then translating those codes into AEF library codes.

OBJECTIVE:  The object of this lesson is for each student to participate in the posturing and coding process and have an appreciation for the type and level of effort required.

SAMPLES OF BEHAVIOR:  

1. Identify UTCs that can be postured from all unit deployable authorizations.

2. Identify all remaining authorizations and posture into an associated UTC.

3. Determine, in terms of UTCs, the wartime home station requirements of the unit over and above the associated UTC.

4. Determine, in terms of UTCs, the steady state home station requirements of the unit over and above the associated UTC.

5. Comprehend how UTCs are split between two AEFs.

6. Produce coding for all postured UTCs.

7.
Produce coding for positions in the augmenting UTC.

REQUIRED READINGS:  None

OPTIONAL READINGS:  None

REFERENCES: AFI 10-400, Aerospace Expeditionary Force Planning

AEF POSTURING AND CODING
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REFERENCE DOCUMENTS
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1.  Identify UTCs that can be postured from all unit deployable authorizations in Figure 1.  (Use table below)

a.  First posture UTCs listed in SORTS DOC statement (Figure 2).

b.  Next, fill as many UTCs as possible using the priorities in Figure 4. (Previous page)

2.  Identify all remaining authorizations and posture into an associated UTC (A-UTC) (6KZZZ).  List in “A UTC” column.

3.  List minimum unit manning in home columns.  Use wartime and steady state requirement (SSR) totals from Figure 3.  

	CODE
	
	
	
	
	
	
	
	
	
	
	
	

	AEF
	
	
	
	
	
	
	
	
	
	
	HOME RQMT

	Rank
	QTY
	6KABC
	6KDEF
	6KGHI
	6K___
	6K___
	6K___
	6K___
	6K___
	A-UTC
	WAR
	SSR

	O-4
	1
	
	
	
	
	
	
	
	
	
	
	

	O-3
	3
	
	
	
	
	
	
	
	
	
	
	

	O-2
	1
	
	
	
	
	
	
	
	
	
	
	

	E-7
	3
	
	
	
	
	
	
	
	
	
	
	

	E-6
	5
	
	
	
	
	
	
	
	
	
	
	

	E-5
	10
	
	
	
	
	
	
	
	
	
	
	

	E-4
	11
	
	
	
	
	
	
	
	
	
	
	

	E-3
	11
	
	
	
	
	
	
	
	
	
	
	

	TOTAL
	45
	
	
	
	
	
	
	
	
	
	
	


4.  Determine, in terms of UTCs, the wartime home station requirements over and above associated UTCs.  Use Figure 3, Unit Minimum Manpower Requirements (Wartime column).


5.  Determine, in terms of UTCs, the steady state home station requirements over and above associated UTCs.

Use Figure 3, Unit Minimum Manpower Requirements (Steady State column).


	
	
	SSR

	UTC
	# AVL
	HOME
	DEPL

	6KABC
	
	
	

	6KDEF
	
	
	

	6KGHI
	
	
	

	6KJKL
	
	
	

	6KMNO
	
	
	


6.  All deployable authorizations should now be split between two AEFs.  Your base is tasked to support AEF 2 and AEF 6.  The AEF Base Alignment Template specifies UTC 6KABC is required in AEF 2.  UTC 6KDEF is required in AEF 6.  Remaining UTC authorizations should be split as evenly as possible between AEFs.  Copy AEF data to chart in Figure 6.

7.  Insert first two digits of AFWUS code in the tables above as indicated in step 4.

8.  For AEF 2: 

a.  Can we send all these UTCs on the deployment without causing difficulty at home station? Keep in mind that UTCs in AEF 6 are still at home. 

b.  Can UTCs in AEF 6 fulfill the steady state home station requirements (Note: Review UTCs determined from Step 5)? 

c. Are additional UTCs from AEF 2 required?  If UTCs in AEF 6 are available to fill steady state requirements, fill in a third digit of "S" in the AEF 2 table.  If not, fill in a third digit of "X".

9.  For AEF 6: 

a.  Can we send all these UTCs on the deployment without causing difficulty at home station? Keep in mind that UTCs in AEF 2 are still at home.  

b.  Can UTCs in AEF 2 fulfill the steady state home station requirements (Note: Review UTCs determined from Step 5)? 

c.  Are additional UTCs from AEF 6 required?  If UTCs in AEF 2 are available to fill steady state requirements, fill in a third digit of "S" in the AEF 6 table.  If not, fill in a third digit of "X".

10. Go back to FIGURE 6 and post the results of the decision table.  This completes the table and reflects the manpower breakout that can be placed into a UTC configuration.

 11. Now, the only remaining task is to code remaining authorizations that are in the augmenting UTC with AFWUS availability codes.  To start, we listed all remaining people by grade from the A_UTC column into Table 1. 

a.  In order to code these positions, you need to ask two questions.

1. Is this needed for war from WAR Rqmt column of figure 6? If yes place a Y in the column NEEDED FOR WAR. If not place an N for No in that column.

2.  Is this needed for SSR from Home Rqmt column of figure 6? If yes place a Y in the column NEEDED FOR SSR. If not place an N for No in that column.

b.  If it is needed for both WAR and SSR code the authorization AXX

c.  If it is not needed for WAR or SSR, code the authorization AWS

d.  If there are different variations on the Y/N codes refer to Table 2 for coding.

e.  Finally, divide the authorizations evenly between AEF 2 and AEF 6.


	CODE
	DESCRIPTION
	CODE
	DESCRIPTION

	DWS
	Available for full spectrum of requirements
	AWS
	Available for full spectrum of requirements

	DWX
	Not available for steady state requirements (SSR), but available for wartime surge
	AWX
	Normally only available during wartime surge, not for SSR

	DXS
	Available for steady state during assigned cycle, not available during wartime surge
	AXS
	Available for SSR, but not during wartime surge

	DXX
	Required in home station for wartime and SSR
	AXX
	Unit commander use at all times




SORTS DOC STATEMENT





UTC�
GRADE�
QTY�
�
6KABC�
O-3�
1�
�
�
E-6�
2�
�
�
E-5�
3�
�
�
E-4�
1�
�
�
E-3�
1�
�
�
�
�
�
6KDEF�
O-2�
1�
�
�
E-7�
1�
�
�
E-6�
1�
�
�
E-5�
1�
�
�
�
�
�
6KGHI�
E-5�
2�
�
�
E-4�
3�
�






UNIT MANPOWER DOCUMENT





GRADE�
QUANTITY�
�
O-4�
1�
�
O-3�
3�
�
O-2�
1�
�
E-7�
3�
�
E-6�
5�
�
E-5�
10�
�
E-4�
11�
�
E-3�
11�
�
TOTAL�
45�
�












FAM PRIORITIES FOR POSTURING UTCS


UTCs listed in SORTS DOC Statement are FAMs 1st priority.  In addition:


Posture as many 6KGHI UTCs as possible.


Posture as many 6KJKL UTCs as possible.


Posture as many 6KMNO UTCs as possible.
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Figure 4





Figure 3





a.  Count UTCs available using table above and record in #  AVL column.


b.  Compare WAR Column to A-UTC column in table above.  Are authorizations available in A-UTC to meet home station requirement?  If yes, no conversion is required.  


c.  If not, do any UTCs in columns to the left of A-UTC column contain grade required?  Circle quantities of authorizations in UTC column.


d.  Fill in chart to left with quantities of each UTC and # required at home station during wartime.  Transcribe 1st 2 digits of code to Table 6.








a.  Count UTCs available using table above and record in # AVL column.


b.  Compare SSR Column to A-UTC column in table above.  Are authorizations available in A-UTC to meet home station requirement?  If yes, no conversion is required.  


c.  If not, do any UTCs in columns to the left of A-UTC column contain grade required?  Circle quantities of authorizations in UTC column.


d.  Fill in chart to left with quantities of each UTC and # required at home station during SSR.  
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CODING IS COMPLETE
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AFWUS Code Methodology



				  1st Character  -  Deployability



				  “D”	Deployable        



				  “A”	Associated











2nd Character  -  Wartime Surge Availability



				  “W”	Wartime Surge Available                                              		(max simultaneous capability)



				  “X”	Not Wartime Surge Available 







(normally required for home station support)







				  3rd Character  -  Steady State Availability



				  “S” 	Steady State Available (within its rotation)



				  “X”	Not Steady State Available







(normally required for home station support)







"The Plan is Nothing, But Planning is Everything."







The deployability and availability of a particular UTC-UIC record in the AFWUS is indicated by the NSUTC Code 







Deployable UTCs will begin with a “D” with the 2nd and 3rd character used to reflect their wartime and steady state availability respectively.







Nondeployable UTCs will begin with a “N” followed by a description of its EAF Category
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AFWUS Code Methodology

		  1st Character  -  Deployability

		  “D”	Deployable        

		  “A”	Associated





2nd Character  -  Wartime Surge Availability
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(normally required for home station support)
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